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cov(X,Y) = E[(X — EX)(Y — EY)]
cov(X,Y)
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W ocov(X,Y) =01 (p(X,Y)=0) , TR X FY FHX,

p(X,Y) =
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cov(X,Y) =EXY — EXEY

cov(X, X) = var(X)

cov(X,aY +b) =a-cov(X,Y)
cov(X,Y + Z) = cov(X,Y) + cov(X, Z)

o var(cX) = cvarX
o var(X+Y) =varX + 2cov(X,Y) + varY

X XY
o var(aX +bY) = a?varX + 2abcov(X,Y) + b*varY = [a b] v cov(X, )] {a}

cov(Y, X) varY’ b
o var(X) =0 —= P(X=EX) =1

HE AR E KR % R P(X-EX|>§) <n’var(X) =0 ¥ Ve #K L. W
P(X = EX) = 1. jIF 5,

o bl<1. Hp=1%HM%PBY =aXb)=1
jE: X vteR, BT var(Y — tX) = t>varX — 2tcov(X,Y) + varY >0, frl):
A = 4cov*(X,Y) — dvarXvarY < 0

B ol <1, Hp=1 9 FACHEAERA b B var(Y — bX) = 0, FRARIE 7 ZI A
P(Y —bX —E[Y —bX] = a) = 1, 3£ a,b ¥ 088, EE.
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